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1. 'b×Markovd, ÏVè 
S = {1, 2, 3, 4, 5}, .É^£Îp
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2. 'b×=�` �ß�iÄ�{X(t), t ≥ 0}, �ß£
{λk, k ≥ 0}, i÷£
{µk, k ≥ 0},
vµ0 = 0, ¬Íõλk’sCµk’s/
Ñ��Tk�hÄ�3Ï×g¾ÕÏVk + 1G, �º3Ï

Vk�À` �ê'X(0) = 0��OTk�5µ�

3. 'b×Markovd{Xn, n ≥ 0}, ÏVè 
S = {1, 2, 3, 4}, .É^£Îp
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�O lim
n→∞

P (Xn−2 > Xn−1 > Xn|Xn = 1)�

4. 'bm¬^ }ñ2º»�N¬B×E(λ)5µÝ` û*, êB×E(µ)5µÝ` ÑÆ,

ø�Æ��'` t = 0`, Xb^ /3º», �O3` t, m¬/3º»�^£�

5. 'b×�Ù, ±ÝWõ
á�ÙÝ>£
α, N×WõÒ��ÙÝ>£
µ��X(t)�

y` t, 3�Ù�Wõó, 'X(0) = i��G(z, t) = Σ∞
j=0pij(t)z

j, |z| ≤ 1, t ≥ 0, Í

�pij(t) = P (X(t) = j|X(0) = i), j ≥ 0, t ≥ 0�

(i)���×G(z, t)���5]�P�

(ii)O�G(z, t)�

(iii)Ot →∞`, X(t)�Á§5µ�
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